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Which is of the following is correct about Y - rays?

a) They are emitted before a & d - rays
b) They are emitted aftera & 4 - rays
c) They are emitted simultaneously with a & a
rays
d) They are emitted either along with a - rays or
along with d - rays
QesTR&EsLILL L _ausafled - Y  (HTLOT)
s@irsener LppPlueeuseficd &flumearama
GTemeu? !
a) e a & d $GTHEHHS (LT Gleverluii L
LIB\&etT pGuT.
b) yemer a & d 55T HEHHS Lesr Gleverlud L1
LiI(B&abTmevr.
c) yowar a & @ sFisem_sr @CT CrrsFed
Qeuefluil L& e perr.
d) oyewar a sGirsep._Cearm e s
s@iraemL_Garm  Qaveflui LB srpe.
Consider the following statements:

1) Srinath Reddy Committee recommended Uni-
versal Health Care Coverage.

2) Karnataka State government Planned to teach
Bhagvad Gita in School

Which of the following statement given above
is/are correct

(a) | Only (b) 2 Only

(c) Both1&2 . (d) Neither 1 nor 2

QETRSSLILIL L Fafd DIS®ETS FHaucsl]
a) wipnd Gy &Sy wyefeudsed
QamnevgGait Lflb ST S5 5.

b) srpITL_&T wrklew rsH Lerefsefled

usalg Eamgamw Geraals QsThEs

S 10" (BHeirer &

CuhsearL_ eurd@unisaisd &flwmer

apernd Cairs.

(a) 7 ol (b (b) 2 1oL (Hib

(€) @uan@wi1&2 (d) @rew@Lildere
Yellow colour light is used as fog light because :
yellow colour........

a) has the longest wavelength among all colours
except red & orange. ‘

b) light is most scattered by fog.
c) has longest wave length among all colours

d) has the shortest wavelength among all
colours

weEsFdr Blp dlardg ap@uUT ailerdsTsl

LWSTURSSLILIGSD &1 TOITSTDITEY LoEHF6IT

a) yemard b 0& Hetwrl . yenevberid
Q& mraisTL_enal. (FleLiL) oD MILD YT EHF
Blpib Hafly opp Fpiiser)




b) afl s yerey apGLSILITD
Ay SSLILEETD S).
c) whHp BHpiisemeral s HewT

gyemevharid Gl&meiTL_enal
d) wpp Ppiiser Hss Gamphs eweferib
GlETeiTL_amay.
Who among the following has not been a Chief
Justice of India?

(a) RC Lahoti
(c) SSGill

(b) GB Pattanaik
(d) VN Khare

QeTRSSLILIL 1 _cuf H@hen Fevevenio BEUS
Wi @)wHSTTHeT?

(@) 7.5. wGsmyg. (b)
(©) ersivete. B (d)

8 pmws
afl.eretr. &Gy
Who amongst the following can be removed with-
out Parliament’s resolution

a) Governor of a state

b) Any judge of the Supreme Court

c) Any judge of a High Court

d) Chief Election Commissioner
ungreseTn Sirwmerldleary BasliL@uat
wirir?

a) rhle emmT

b) 2. dspBiostip BHILIS

C) FsTeus 2 FFhHG LoD [BQUQ
d) geeeno Cairgeh jenemruit

Almost all central taxes and duties are made share-

able with the states by the_ following amendment
Act

(a) 78" (b) 79"

(c) 80" d) 81
yeward s wHFw aflse@nib whmib ks
QIfi&@mHLD LomBlev &L ot G&TR&GHII 1
TEFL L& BHSSSHTV LkGL_L1LGF D 517
(a) 78aug (b) 79 5/

(c) 806usy (d) 8lau g

Which of the following veto power is not available
to the Indian President?

(a) Suspensive veto (b) Pocketveto
(c) Qualified veto (d) Absolute veto

Qer@Raésini’ L af " GLm &G Fmyiisefcy
@sSws G4 wTHS BV (S G
FleL_S&TH S 6T 57

(a) Bsap Qb af " G

(b) ursQsL_ af " GLm

(c) s@FPwmen af” G

(d) oyFar. ofC G

Which of the following Amendments provided for
reservation for SC, ST and Socially and
Educationally Backward Classes in educational
Institutions?

a) 92n b): pa"

¢l gao” d) 90"
6Te.8), eTeivLy. Fopd LOH M Hevauled LTeir
SE&W Qi@ L1156t (15 & & T 6uT Hevall
Beneowhisetleh @) e 51580 ClHTHSSLILI L
F 1 & Bmdbsnisatiey o1 5?7

(a) 92eugy (b) 93augy

(c) 95augy (d) 90eugy

Which of the following are among the non-Plan
expenditure of the Government of India?
1) Defence expenditure
2) Subsides
3) All expenditure linked with the previous plan
periods
4) Interest payment
Of the statements
(a) 1and 2 (b) 1and3
(c) 2and 4 (d 1,2,3and4
@S 75 GFavaiersFeh SLpsTayib eTemau
S8 QFevalardangd Frihsenal?
1) urgsmid GlFawey
2) omestlwikiser
3 wphBu
@)ewewrhpemeu
4) a1y Q&TH &S0
CuoGew @I I L _eum pyeir
(a) 7 opmub 2 (b) 1 opmib 3
(c) 2 whmib 4 (d) 1.2,3 o mib 4

(OETIE TR

&L &mev



10. The object of the fiscal policy is
(a) Economic development
(b) Distributive justice
(c) Price stability
(d) All of these
BB &GF TSI CBiTdsid

(a) Qumgpernsmy wperGarbmLd
(b) u&ipseiliy 5
(c) aflewmev &L BLIT®

(d) yemawrd sid
11. Bank Rate means

(a) The interest rate at which Commercial Bank
advance loans

(b) The interest rate at which the banks settle
their mutual loans

(c) The interest rate at which Commercial Banks
lend to co-operative Banks

(d) The interest rate at which the Central Bank
rediscounts bills of exchanges.
auhI& af SLb GTehTLI S
(a) avemflas audGlsarmed G&TH&S LG LD
FL_air Lbgmar aul’ 1y af Lb
(b) wmBlser ghsEhEGeTarTaT  LFSVLT
&L_airgansn yent_s@LoGLiT g GsT@SS LB
a1y afFEBLb
(c) auewlls ubEIG)FeT Fnl' HD6y CurkisEmd:d,
QarT@FSLILPL &L 6T BsTaT Ul 19
& HLb
(d) wHuw i vewr ufwTHp elemets
L’ 19 wieSlahr LESTRT Lo B FET@mhLILy ef&SLb
12. The Earth Summit held at Rio de Janeiro in 1992
resulted into
(a) Compilation of Red List
(b) Establishment of Biosphere reserves
(c) Convention of Biodiversity
(d) IUCN
il wrpr® AGuimy GgefCrrailsh 199260
pen_GlLbnger ailenenray
(a) Gri’_edlsivi’ ig 6t Glgm@Liy

(b) 2 WiMST ILISD 2 (HauTdaH6

(c) 2.u9rM Geup miewio setrGleusiTarver
(d) s Ferer
13. A anti'cancer drug is obtained from
(a) Papaver somniferum
(b) Solanum nigrum
(c) Taxus baccata
(d) Pinus wallichiana
& yDpCHTY W@EbS LS @)aphi
Slpp g CUpLiILIBGSID S.
(a) umumeurr FmibasfledGlLirib
(b) G&mevrerid Magib
(c) Lmdseiv uTdEL T
(d) emwssoreiv GlFebaSlFwimerm
14. A plasmid is a
(a) Bacteriophage

(b) DNA molecule incorporated in the bacteriorial
chromosome

(c) DNA molecule present inside mitochondria

(d) A small circular DNA molecule capable of self-
replication and that can carry genes into host
organism.

@i Liemmeruid) eTeTLI Zy
(a) umdie AGuTGLig

(b) 196768 6T LGS My @@fﬁ;&?mmfg'g Limdie fwim
@&CrmGunGemib

(c) g ereireremn’ G smeisig wiralgyerGom
2 GITG /.

(d) &lw a1 ang ellevmar 19 67681 67.3) FI HFWLOTS
QU1 Ly peong gt s Glaebgyd

15. Which of the following is true of viruses?

(a) They multiply only in the host cell

(b) They invariably contain DNA .

(c) They occur only inside bacteria

(d) Their genetic material is RNA and not DNA

Q&TH&ESLIIL L _anaiserey ewaugsiv Lpmfw

D GUITEWLD GTEm6U?




(@) ymau @LoyuliMufied i G GBS
LDEWL_ULfLD.
(b) @ewau Gaugruimepp g erebrer Gl preirerer.

(c) yewan Limdie Mwmaiayier ol (Blid HeoL

QU mFID S
(d) yeubmletr Loyt QILIT(HET YT TG 6T, L9 GTGHT 4.
@)bemev
16. Match the Geological Era with their periods

(a) Precambrian 1. Jurassic

(b) Cenozoic 2. Archaen

(c) Mesozoic 3. Silurian

(d) Palaeozoic 4. Eocene

-

yai yewlifwed wEkismer &6 He

srerEGert(® QLT hd &%:

(a) Cabifwgns@ perameud 1. g rm&s

(b) @sCearrGFmuild wjHLd 2. gy rCowetr
(c) BCFmCamulls waiLd 3. Aayrflwetr
(d) Qsmevauuili wysLb 4. @Cuwir&edr
(a) (b) (c) (d)
(A) 2 4 1 3
(B) 3 2 4 A
(C) 4 1 3
(D) 1 2 3
Match List | with List Il and select the correct answer
using the codes given below the lists
List | (Poets) List Il (Works)
a) Kalidasa 1. Ashtanga Sangrata

b) Vishnu Sarma

2. Surya Siddhanta

c) Aryabhatta 3. Panchatantra

d) Vaghbhatta 4. Sakuntalam

Codes:

(a) (b) (c) (d)

(A) 4 3 2 1
(B) 3 4 1 2
(C) 1 2 4
(D) 2 1 4 3

18.

19.

ucguwed lgg ulgwed Il 2. 6t @il @,
Bpactu_ Qsr@Liier sieventGuim® sihwimer
aflent_eow yerflshsayLb.

i ag e | L ug uied 1l

(Ljevaurt Hair)

(a) smaflgmam

(b) efleiygmay Frriom
(c) gy’ L it

(d) eumrdsn’ v

(LS SFHBIFHET)

1. eyl TS SHHESNTSHLD
2. &M SgsTHSLD
3.U@hF SHSITLD

4. FT&BSH6VLD

Which of the following is correctly matched?

1) Baridshahi Kingdom - Ahmednagar
2) Imadshahi Kingdom - Berar
3) Nizamshahi Kingdom - Bijapur
4) Adilshahi Kingdom - Bidar
A 1 By 2
(C)3 (D) 4

Gpsaw_eupmer sflursd GuUIT®BSSL

L _(hleiram & 6T &i?

1) uflgsrd Guprs - DIFLDF| BHT
2) @Quogan& Guigs - Lo
3) Bemben& Cuyrs - L guiLyr
4) o9 vFr& Cugs - i
A 1 |B) 2
(©)3 (D) 4
Match the following
University Year
a) Annamalai - 1984
b) Tamil Nadu Agriculture - 1971
¢) Gandhi Gram - 1929
d) Annai Terasa Women - 1976
Codes:
(a) (b) (c) (d)
A) 3 4 2 1
(B) 3 3 4 1
(C) 3 2 1 4
(D) 3 4 1 2
Qi nd &1



20.

21.

L1160 & &9 60 & & Lp & L <9y &tr ()
(a) gyadwrewermioeney 1. 1984
(b) s0ppTH Cavermaimeno 2. 1971
(c) 7% Smiotb 3. 1929
(d) —oyeirenar GlsgFm 4. 1976

India's first food bank as part of the India food
banking network was inagruated in

a) Delhi b) Pune
c) Hydrabad d) Ahmedabad

@pPureiss 2 ey ek GpL_Gleunt&&le

R UGHUTS WPpH oawey k&
TGS LI LS.
a) Gl_sbad] b) Cer

C) QUDSTTLITS d) yswaHTUTSH

Match List | with List || and select the correct answer
using the codes given below the lists
List | (Important Days) List Il (Date)
a) Army day 1. January 12
b) National voters day 2. January 15
c) National Tourism day 3. January 24
d) Sarvodaya day 4. January 25
5. January 30
Cc_:des:
(a) (b) (c) (d)
(A) 1 2 3 4
(B) 2 3 4
(©) 3 4 5 1
(D) 4 5 1 2
L g wed g L igued 21 it Ui, ECup
QsrT@F&LILL_HeTer @D B Henend
Qsran® shwrer afeo_owsd Csihbls®H
L 1g uweb | L g web |l
(p&&u FewhiFer) (GCz8)
(a) sewgliuenL_ erLb 1. spesreurfl 12
(b) Cs&w eurdsmentt Hewtb 2. gewreurfl 15
(c) Cofw spmiewr Fewrd 3. geweurf] 24
(d) #rCaurwim Gewtd 4. seweurfl 25
5. gewaurfl 30

22.

23.

24,

P e e

S NGNS

Choose incorrectly matched pair

a) 2007 - International year of physics

b) 2008 - International year of planet earth
c) 2009 - International years of astronomy
d) 2010 - International year of biodiversity

sauprts QurmpSuydrer Qemereowd CHirs
a) 2007 - sreuCss QubLiwed esr®

b) 2008 - #iaCss LYOGsHTET Yedor(®

c) 2009 - eurerailussh yever(h)

d) 2010 - 2uiflwed LsheuensenLo jesor(h
Choose incorrectly matched pair

a) Lajja - Taslima nasreen
b) Leviathan - Thomas hobbes
Sri aurobindo

M. K. Gandhi

c) Life divine -
d) Long walk to freedom -
sauprs QurhSueren Renewrenwg Cairs
a) eugh gy meturf T - geweSLom pervrfer
SITLOSTV @DITLILISTL
wf yreips

d) evrdieurd Boofl_tb- b CasmpS

Which of the following articles of the constitution
broadly govern the relationship between the Prime
Minister and the President?

b) efsvr Gevrissiv -

C) eweuLs L9 emauesT -

1) Article 75 2) Article 73

3) Article 78 4) Article 76

5) Article 74

a) 1,2,3and5 b) ‘. 1:3andb"

c) 1,3,4and5 d 1,23,4and5

Lehraumld yTFWeLLILF FL L. 2 DL
Fafled eTemay GUYWTFSSVaUT LoHMILD
HGosw wpSfssn odrear Ggmi_reoud
GO BSDSI?

1) 505375 2) subz73
3) suhz 78 4) 5785 76
5) spdam 74

(@) 1,23 whmub 5 (b) 1,3 wppib S
(c) 1,34 whmub 5 (d) 1,234 wppind §



e e e

25. Which one of the following was not stipulated in
the Fiscal Responsibility and Budget Management
Act, 20037

(a) Elimination of revenue deficit by the end of
the fiscal year 2007-08

(b) Non-borrowing by the Central Government
from Reserve Bank of India except under
certain circumstances

(c) Elimination of primary deficit by the end of the
fiscal year 2008-09

(d) Fixing government guarantees in any financial
year as a percentage of GDP

Aereumauareup pier 1 HE Gummpiiiy
whph REHmew yBléens Cosmedmenio
FU'_1_1b 200360 @Ol _LiLi_efebenev

(a) eu@paurds uppTHGEPew 2007-084 @6
Bé&Lb GlFuiey s

(b) Ao GUICNIC L spsiiumiser saiT wHHw
s wHu Mera kB mbH FL_cr
UTHIGSmeV SIS

(c) wpsevflener LppTEGmPedw 2008-091d
B%) ey Hger BEsd GFiial sl

(d) a1psQaur A Hamg b T&e
2 pFGriflamer Gwrgs 2enpTL B
2 pusGie ssafssGletr g Liient_uied
Frresruligs LGS /.

26. Which among the following is/are true?

1) Deficit financing does not lead to inflation if
adopted in small doses.

2) Deficit financing is an often used tool for
financing budgetary deficits.

Select the correct answer using the codes

given below
a) only1 b) only2
c) Both1and2 d) None of these
Llstraumeuesteum mueir Fiflwimes &l 61 7
D uppré@eep FFwurssw  (Deficit

Financing) GempeuTesT e aled
vweTU@RSSLT L L_mey LewrelSsiLb

TMLIL_IT S

el

28.

29,

2) upprésep HHUTESD aye-Gaaay
uppréGepeau  HH gl GCelg
(RaurrdH Q) 2 gayb Hmel y@Lb.

swrer ellen_ewid CHipoSH%S

(@) 1w @ (b) 2 o @b

(c) 1 wpmpnd 2 (d) @euppled 67 grayLblsbemev

Common feature amongst nucleus, chloroplast

and mitochondria is
Lamellae

All the above

(a) Cristae
(c) DNA

(b)
(d)
Ry deflwsiv, GCermGrmillermevi Lop miib
el GL_mametr . MwmsendHent_Guiwimes
Glumgy FpLiny Ledyy
(a) EnflsrvCr_
(c) 19616t 67

GevGlpebevrr

yenen S giLb

(b)
(d)

Consider the following climatic and geographical
phenomena

1) Condensation

2) High temperature and humidity

3) Orography

4) Vertical wind
Thunder cloud development is due to which
of these phenomena?

(a) 1and 2 (b) 2,3and4

(c) 1,3and 4 (d) All of these

QET@&sLIIL_L_ sTevflene p i Lyafufed
Hlapaysenerd; Heuef

R T LT

2) 88 Qeuliuptb, FFLILIGLPLD

3) wewa GHILILY LOELD

4) Guo@evupLbLth SThmy
@9 Cuoshisefish 2 paurdsd Lletaimb e1bs
wpempuiermed FFHpFDGH?

(@) 7 opgub 2 (b) 2 .3 wppib 4

(€) 13 op b 4 (d) Syevens gt
In the map given below four petrochemical centres
are marked with numbers. Match them with the

following four places and select the correct answer
using the codes given below



a) Koyali b)

Trombay
c) Jamnagar d) Mangalore
Codes:

(a) (b) (c) (d)

(A) 3 1 2 4

(B) 2 1 3 4

(C) & 2 3 1

(D) 4 3 2 1

30.

31.

Qar@ssLILL L auedguL_S&le Qul Grm
Qslldsad eanwwhser G&ETEREHLILL (B
e sar GPEsLILL_Rerarar. QSTHSSL
ul L prerg @ msamer GolufGsmaents
LTRSS yeuphmit et CLIT(bS 5is.

(a) Garwead (b) HCrmbCum

(c) gmibm&T (d) LDTEI FHEGTR /T

Which one of the following regions of India is now
regarded as an ‘ecological hotspot?

(a) Western Himalayas

(b) Eastern Himalayas

(c) Western Ghats

(d) Eastern Ghats
QETHSSLILL_L_ 6ThS (b @SS LGS HeT
GpHlese apri svuml eTard GOlSsLL®
&n&1?

a) CGupe @owioeme

b) &ps@ @owioemew

c) Cup CsTL 15§ wenew

d) &ipdg OSTLITFE) LoeOe

Consider the correct ones:

The traditional Thanjavur Doll automatically rights
itself even after it is pushed and tilted around

32.

g 2 S r g
(1) It has a very low center of gravity -
(2) It has a rounded base

(3) It has high center of gravity

(4) It has a flat base

(a) Both 1 and 2 are correct
(b) Both 2 and 4 are correct
(c) Both 3 and 4 are correct
(d) Both 1 and 2 are false
Fiilwrer eflen_ewd GCairboIS®H!:
sEhFTayt sameowrl iy GLTbenoerw SeTafl
QUTQYLD FTUISSTEILD H6T Lienipwl, Flevevenis
QLG S
1) oyser yafufiliy ewwwib SHTLHHS
Hlenevuileh 2 6irer F.
2) g IITSLD . (HESTEnL LITGT H)
3 oygeir yeufiriiy ewowh 2 withg Hlenevuiled
2 GITGT &
4)  BEHT QYL LITSHLD FL_HL_UITCT &
(@) 7 opmib 2 & (b)
(c) 3 wpmib 4 &fl (d)

2 whmitd 4 Ffl
1 pmith 2 Heumi

Match the following statements:

(a) Bleaching powder 1. CH, CooH
(b) Plaster of paris 2. CaCo,
(c) Marble 3. CaSo, 1/2H,0
(d) Vinegar 4. Ca (OCl),
5. CaSo, 2H,0
Codes:
(a) (b) (c) (d)
(A) 4 5 2 3
(B) 4 5 2 1
(C) 4 3 2 3
(D) 4 3 2 1
@l (md H15:
a) ef &k ey i 1. CH, CooH
b) (Sermsiv_rr gyeaimisiv - 2. Ca Co,
c) wmrrller 3. CaSo, 112 H,0
d) aflesflsr 4. Ca (OCI),
5. CaSo, 2H,0




33.

35.

Match the following statements:
(a) Acid 1. Bitter taste
(b) Base 2. Ammonium dichromate
(c)Chemical valcano 3. Sulphuric acid
(d) Venus 4. Sour taste
Codes:
(a) (b) (©) (d)

(A) 3 2 1 4

(B) 4 1 3 2

(C) 3 1 2 4

(D) 4 1 2 3
Qi (m Bi5:
a) gblevib 1. s&FLL Fenau
b) b 2. 9Cumresflwib

oL &CrmCuol
¢) Cauguilwed erfivenev 3. Febyfid yblevid
d) afewerv 4. yeflliy seney
. Consider the following statements

1) Carbon compounds have low melting point
and boiling points because of their covalent
bond

2) Carbon compounds are easily combustible
Which of the following statement above is

correct
(a) 1only (b) 2only
(c) 1and 2 (d) Neither 1 nor 2

Bpsed_ auTFEBISeNS: Haues:

1) smiuediesr Camwhiser Falleneslieonu
QUPDEHLWTE GenDhS 2 (h& HlenevuLb,
Goonbg CsTSBleneoujd GlLm mieTaTe.

2) sniueaher Cerwhisedr erefifed LDDH
eTrfleue

Cupsen_ curdSukiseatlsh saupTaTaIDeDS
Cairs

@) 7wl @ (b) 2 @b

(€) 1.2 @b (d) 1,2 @evevev
Choose incorrectly matched pair:
a) The god of small things -
b) The golden gate =

Salman rushdie

Vikram seth

- b) §Camein_eirCa’

36.

37.

38.

c¢) The origin of species - Charles darwin

d) The song of india -

QLT &I H:

a) § sm oot
suLomed Fkid

Sarojini naidu
1. FeULOMGH (HeipLy
2. afldgb Qg

c) § gyraflelr gLt 3. Fmirevsiv Lrrirafler
siuLFsiv

d) & Fs oLt 4. #Crrgfled! pry®
@BSwT
Match the following statements:
Dams Districts
a) Pilavakkal Dam - Thiruvannamalai
b) Sathanur Dam - Villupuram
c¢) Veedoor Dam - Kanyakumari
d) Pecchiparai Dam - Virudunagar
Codes
@ ® © @
(A) B 3 2 1
(B) 4 1 2 3
(C) 3 4 1 2
(D) 1 2 3 4
Qurms &1%:
<D T FHGIT wmeul b

a) Llereurdised 1. S meuasress Toeme

b) sngssmmt 2. el
c) af@Bi 3. sereflwm@Lorf
d) GuéRimenp 4. aflgp FIBHT

Who is the first President INC from Tamil Nadu
(a) Vijayaragavachari (b)
(c) Sathyamoorthy (d)

Subramaniya lyer
Rajaji
sullppri g dlpis  @bsFwu  Cz&u
STHRGTFH (LPpHeh HenevauTTeTeuT wri?

(a) aflguyrseaumdsml

(b) &L nyoesflus gouwirr

(€) #58wepiss

(d) rrgnggl
Match List | with List Il

List | List Il
a) Shiksha 1. Meltrics
b) Kalpa 2. Grammar



39.

c) Vyakama 3. Phonetics

d) Nidhi 4. Astronomy

d) Chandas 5. Rituals

e) Jyotisha 6. Chronology

Codes:

(@ ® © @ () ®

(A) 1 < R 5.4 6
(B) 2 . o i e
(C) 5 Sl 1 6 4
(D) 3 8o BBt v

g wied | g L agweb | 2. _air QT B Sid:

g wed | L ig web 1l
a) Fdapm 1. wrnSuwed
b) et 2. @wdsenid
c) eflwirgresrr 3. gedluflwed
d) 5% 4. auesiiwiey

€) FretorL_iTeiv 3. FL_EIE (peDSET

f) CarsFapr 4. smedsenflLiL] LpsOD

Ctrl, Shift and Alt keys are known as

(a) Function keys (b) Adjustment keys

(c) Alphanumeric keys (d) Modifier keys

&’ Grmed, sivalllil’ Lop mib fevL It eTEILD
SpayCararser @aiarm ypdaliLi®
&)t

(a) wssivereay SmayCaTerHer

(b) oy gsvGloetr” FmayGamenr s

(c) yevur muGofd FpayGamerser

(d) Guormg e FwayGamerser

. Match List | with List |l and select the correct answer
using the codes given below the lists
List | (Mineral) List ll(Place)
a) Mica 1. Chindwara
b) Diamond 2. Bellary
¢) Manganese 3. Panna
d) Copper 4. Hazaribag
Codes:

(a) (b) (c) (d)
A) 1 % Ay 4

41.

42.

(B)
(©) 4
(D)

L g uwied | @ uig web Il 2.1 _air Ui B, 8Grp

G &TH &S LILL_(heTer

Qaran® sfwrer alen_emwg CairbGS®).

vl g wed | (ST )
(@)_1b)

a) endET 1.
b) emauib 2.
C) Lomiisest & 3
d) smiblyib 4,

2 4
2 1
3 1
GDluf GFemens
il g wied
Fesr_aumm
GsvCeurf
LIGETGuT T
STEFTLIG

The First Chief Election Commissioner of India

was?
(a) T.Swaminathan

(¢) Sukumar Sen

@bBurdler  apse
cgmmwﬁ‘?

(b)
(d)

S.P.Sen Verma
KVR Sundaram

s Gz irsed

(a) ysaumbprger (b) ersiviiGesaurtiom

(c) &@Lomir Glaair

(d) Caafl gyt HpsrLd

Which of the following is incorrectly matched pair

a) National Sugar

Research Institute
b) Physical Research :
~ Laboratory
Seismic Research :
centre

c)

d) National Diary

Research Institute

Q&TH&SLILL_L_analsar e

Kanpur

Ahmedabad

Gaurividanur

Karnal, Haryana

SUDTHLL

QurwpSuerer @evemmanwis Coirs:

a) Csfw sFidser
QYT TiIEE Bl pieuaTLb
b) @uninSluseh gyymiiss)
Canganaidal b
) yallpBss
QT miId & enLowih
d) GQQUJ LITeD
QY miIFE B pieueid

D BITGHTLYT

L OFLOSTLITS

: seyflaflgmert

: Erared, @piwimeTT



b

43. Match List | with List Il and select the correct answer
using the codes given below the lists

List | List Il
(Minerals) (Places of occurrences)
a) Gondwana Coal 1. Neyveli
b) Lignite 2. Lohardaga
c¢) Mineral oil 3. Talcher
d) Bauxite 4. Kalol
Codes:
(a) (b) (c) (d)
(A) 1 3 4 2
(B) 1 3 2 4
(C) 3 1 2 4
(D) 3 1 4 2
L g uied | g o iguied 1l 21 _ahr @L:M_Ql'_@, &Gip
QEr@&SLILL BH6Ter &P B Eemard
Qeram® Fhwmear afleni_sowg CaibGlS50H.
i ag uied | i g e Il
(BT &) &&HET) (Bewt_d@0_rkiser)
a) Camaiw_eures Flevdasil 1. QpuIGausd
b) LiptnyFlevdf 2. Qeunai_mam
c) &5 erevrGlawri 3. gmevEr
d) urdenaL 4. sGeumed

44. Dadabhai Naoroji was elected to the British House

of Commons as a member of the ........ Party

(a) Conservative (b) Liberal

l(c) Labour (d) Labour-Liberal combine

Srgmumd pauSym g LML 19 &y LT EHLOETD
Bpemasg o pularrrs CsipblsBésL
UL L & B GWGGT FITTLITS

(a) LiLpemioauTs (b) #ah&lrs s &

S &
(c) @Qamifevmrent  (d) Gmflevment sEbGIT
s & s_Gaer @)enewrh g
45. The sixth Economic Census is being done in 2011.
What was the year of the first Economic Census?
(a) 1951 (b) 1961
(c) 1971 (d) 1977

YpTaug QurmerTsTrds FawsbsGLIL
20716 penL_Gluhm &l (P HEVIT 6 i

46.

47.

ST SOSEBLIL) eTiQUITp S BenL_GlLimhp &i?
(a) 1951 (b) 1961
(c) 1971 d) 1977

The existence of a parallel economy / black
money?

(a) makes the economy more competitive

(b) makes the monetary policies less effective

(c) ensures a better distribution of income and
wealth
(d) ensures increasing productive investment
SpItiyliuesstid | @)sener GlLimwenmSmyib
DL BB (BLILIGTE?
(@) Qurmwernsrrsans Guri iy g 21
UGS SIFD S
(b) uewTbFar G &meTemsuileh
GODSED I
(c) eugpLomanih wph b CFTS FidFemer Fevev
panpulleh LG ThgermILeng 2 DI CFlISn i
(d) 2.(mnnguimes pzeil oo HBHINDE S D
2 mi% GEdi&n s
Match List | with List Il and select the correct answer
using the codes given below the lists

Fmpen e

List | (River) List Il (Tributary)
(a) Ganga 1. Pen-Gana
(b) Godavari 2. Bhima
(c)Yamuna 3. Bagmati
(d) Krishna 4. Dhansan
Codes:

(a) (b) () (d)

(A) 3 1 2 4

(B) 3 1 4 2

(C) 4 3 2 1

(D) 4 2 3 1
L g ued | g i ag wied Il 2.1_6tr Uil ), ECip
QasrR&SLILL_ReTer @olud G sanar s

Qerew® shwrer afen_sowd CHiEGIS®.



i’ iguied | L ig wieb 1l
(m1) ( ST II)
a) ST 1. QUG- EHIEHT
b) Camgrau . 2.4Fwom
c) wepauT 3. umé§
d) &meipevrm 4. garFar

48. Consider the following statements
1) OMR ~ Recognizes the characters printed on

document using a magnetic ink

2) OCR - Reads the small bars of varying
thickness and spacing printed on
packages, tags etc

Which of the following statement given above is/
are correct
(a) 1 only (b) 2only
(c) Both 1 and 2 (d) Neither 1 nor 2
QETRSSILL L Fafh QIdbSHeeTd: Foues
1) OMR - et yda LPSSILC L SLL b
sanar eno Lop b GlLshT§leb
Q& Tl (B HHEHLOUITESLILIL L
upemD HYBBTSLD.
2) OCR - o (heubisenar Lilg S5 LOH LD
eupenm 0 &aem opmiLh 1 &a&eir
GTEYILD (Q)ewaRTHEN TS LOTDH MIG S

Guom s etorL_ & T & &) wi il & arfl 6b

FRwmarauhennd CHiis:

(a) 7 o’ @ub (b) 2 ot Bub

(©) @rem@Ld (d) @ar@ELldama
49. Which one of the following is not symbionts?

(a) Lichen (b) Rhizobium

(c) Mycorrhiza (d)Acetobacter

QaETRSSLILIL L @eTpled eTemay Fal Gl

Fenr_wim &?

(a) ewevdiasaur (b) ewgCemiuid

(c) ewwaCarevgem (d) e GLmumdL i
50. The only living tissue amongst? Xylem cells

(a) Xylem vessels (b)  Xylem fibres
(c) Xylem Paranchyma (d) Tracheids

51.

52

53

54.

wrew Qadwseper 2uimerer @Gy H&
(a) wsws@riigear (b) eFaLd BTTsHeT

(c) engeubLimysitensior (d) 1g788GS6T

et My e Fetlehr el &lghisenr 35: 55: 77.
aunpler BURQU® GurgdsTyeni 24

. eTarfle oyaiGlaUet HeIT WiTenau?

(a) 420,660,924 (b) 280,440,616

(c) 840,1320,1848 (d) 105,165,231

The ratio of three numbers is 35:55:77 and their
HCF is 24. Then the numbers are -

(a) 420,660,924 (b) 280,440,616

(c) 840,1320,1848 (d) 105,165,231

P AGLILI6D 60 LOTERTaUTHET 26T TG,
2451 §lev & Fleb 75% LDIT 8T 6 [T & (& LD,
fleflwedled 45% Lomasrauisend Csirés
Qupaiehansy 67 63fl 60 @)eirall (p
LI Ll S erf) gl th Cairéd Quprs
LomesTauHen T penar GLir?

(a) 5 (b) 6 (c) 8 (d) 12

There are 60 students in a class. In an
examination 75% of them had failed in English
and 45% of them had failed in Science. How
many had failed both in English and Science?
(a) 5 (b) 6 (c) 8 (d) 12
Oeraumds UL misefled T & W T GO GO FH 6T,
BTiIseT, LBemSET YFuDeDs SUSEDSI?
Which of the following diagrams correctly
represents elephants, dogs and animals?

e

= P
At g‘\_/‘ \;‘) 8 | f ) 1; } \;
Spag N e ) /

: .f”;‘%y’“ e o “;x:—-\\
AW SN
NN SR TAT D

a=b*, b = ¢, c= &* erafleh Xy Z b LG
a) 1 b)0 c)1 d)@eweu e7giayLblshensy

a=b*, b = ¢, c= a* then xyz is equal to
a)i b)0 c)-1 d) None of these



58,

A erairuiaurt g Cavenevenws 80 T’ safleh GlFunu

wpLyuyth. yaurr 20 mrL e wrsSrih Cauaney
Ouriigm.BetesLiaut LEGerer CouenevaniLl SastiLima
36 pri_sefleh QFui gy wpygsri.  Auwb B ub
Garih gy eraieuana) Bl _seflsh jelCamevenid
QAU BE (pguLb?
(a) 25 prl’_seir (b) 30 il _seir
(c) 35 pmi_senr (d) 40 Bl _seir
A can do a place of work in 80 days. He works at if
for 20 days and then B alone finished the remaining

work in 36 days. In how many days can A and B
together complete the work?

(a) 25 days (b) 30 days
(c) 35 days - _ (d) 40 days

25 apyaysefler Fgma 18, wpHe Lichavflyeds (B

pig-eyaariiasr Fymal 14 Lom pib @) miF) LissrafGlyessT(®
pigaysefler Fgmsd 17. yliug wrermed

LIBIGHTeLOGHTIITOU &5/ (LpLg- & 6TGHTGRT?
(a) 87 (b) 78
(c) 67 (d) @eudmieir 67 Grayblsbenev

The average of 25 results is 18, The average of
first twelve of them is 14 and that of last twelve is
17, The thirteenth result is

(a) 87 (b) 78

(c) 67 (d) None of these

20 Guety gergen w of 19 S b g b5
Q&TL_iGermer. pgedled HpdGL LSFHOTS 3
&b srrapd, LIpG eu_s@ Hensulled HpLbLd 4
&8 s Pevsdied BLS&pTEr. euer
DG LT 5 af 19 &S (B & sTQIIGT Y
Qgrencvailed @)mSFpreir?

(a) 3 &b Gsne (b) 3 &lLb. auL_&

(c) 5 &b QzerGLop@ (d) 5 &ub. auL_&lipss,
A girl started walking from her house. She first
walked for 3 km towards east, then she turned

towards north and moved 4 km in that direction.
How far is the girl away from her house?

(a) 3 km South (b) 3 km North
(c) 5km South West (d) 5 km North-east

58. gawenfenrls Guimed s 19 oL ki@ eTemL_
2 airer & Lom miLb G\FLDLY 9 LOL_ThiS 6TeDL_ 2 GG G
erafleh gevarentenyiGuimeb 15 wf_fﬂ@ aTamL_
yerer @ael 2Cewrsmsmenrd Gaid g
o paurs&fu 2 Cwrs swmalid @)%
2 Corshiser e1hg alFssH0 @)mhd@Lb?

(@ 1:2 () 2:3
(€) 3:2 (d) 19 :135

Gold is 19 times as heavy as water and copper is
9 times as heavy as water. The ratio, in which the
two metals should be mixed, so that the mixture is
15 times as heavy as water, is

(a) 7:2 (b) 2:3
(c) 3:2 (d) 19 :135
59.  wpseb @b& ST eTevmsanar FymFfl wimg?
(a) 5.0 (b) 5.2
(c) 5.6 (d) 6.0
The average of the first five prime number is
(a) 5.0 (b) 5.2
(c) 5.6 (d) 6.0

60. @ QgTens 4% s’ B a1y af $HBb @)redw(®H
Qu(pL_mIgened e 1,352 9 &pg. erefled
QG TENHENIS FHTEBT 5.

(a) 1300 (b) 1200
(c) 1250 (d) 1260

A sum amounts to Rs.1,352 in 2 years at 4%
compound interest. The sum is

(a) Rs.1300 (b) Rs.1200
(c) Rs.1250 (d) Rs.1260 m
el L BET:

LB CH AT 40 Bl

7D 8B| 9D 10D | 1.D | 12.C|

13.C| 14.C| 15A | 16A | 17.A | 18D

“19.B| 20.8| 21.8 | 22A | 23.D | 24.B

25.C| 26,.C} 27.D | 28.D | 20.A | 30.C

3A| 32D 33.0 | 34.C | 3.8 | 36.8

37.A| 38.D| 39.D | 40.C | 41.C | 42.D

43.D| 44.B | 45.D | 46.B | 47.B | 48.C

49.D| 50.C| 51.C | 52.D | 53.A | 54.A

55.B| 56.B | 57.D | 58.C | 59.C | 60.C




